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1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 Bt
— — — — — = — - ~11kg

- — - — — — — 12

— — — - — — — — 13
— — — - - — — 14
0.1 - — S = — 15
- —_ — = — — —_ — 16
—_ — —_ — — — - = 17
0.1 - —_ —_ — — s — 18
00 — — — — — - — 19
0.1 0.1 0.0 —_ —- - e — 20
08 0.0 0.0 — — — — — 21
2.1 04 — — — — —_ — 22
6.2 1.1 0.1 — - — — — 23
13.3 22 0.1 — 0.0 - — — 24
221 6.2 06 0.2 — — — — 25
386 99 14 0.3 0.0 — — — 26
487 15.8 30 05 0.1 —_ — — 27
63.0 25.0 52 1.0 0.2 - — — 28
68.7 33.0 78 18 0.1 — — — 28
804 46.6 147 22 03 — — - 30
76.2 476 171 43 0.6 0.1 — — 3
71.0 56.8 245 58 1.2 0.1 — — 32
67.7 61.2 28.2 84 1.2 02 — — 33
579 62.3 327 116 1.5 0.1 — 34
541 62.8 48 15.0 27 02 0.1 0.0 35
440 59.1 424 18.1 35 0.3 0.0 0.0 36
399 536 45.1 211 44 04 0.2 0.1 37
316 51.4 476 256 6.6 0.6 0.1 0.0 38
281 423 482 2589 84 1.3 04 0.2 39
254 4.3 51.2 321 11.0 25 04 04 40
205 376 479 36.4 128 32 08 03 1
18.0 339 440 38.2 18.1 5.0 2.1 0.7 42
16.6 332 451 414 232 6.4 27 1.3 43
13.8 255 a7 432 218 9.2 3.1 1.7 44
133 231 19 465 313 14.3 45 36 45
10.2 20.2 364 453 350 16.6 7.7 35 46
99 19.3 36.4 456 393 194 10.3 7.2 47
8.3 16.1 316 47.0 432 23.0 14.9 8.7 48
6.5 14.2 281 46.7 455 258 16.2 103 49
6.1 14.0 27.2 455 476 345 23.7 178 50
50 1.3 233 40.0 484 394 294 21.2 51
5.0 94 206 39.2 499 421 340 256 52
37 9.0 19.9 340 513 40.2 348 318 53
38 6.5 164 30.2 45.6 49.2 44 36.0 54
27 7.0 1486 304 488 545 482 401 55
31 5.3 121 254 420 494 52.0 446 56
29 49 124 229 40.0 48.0 48.9 459 57
1.4 37 111 207 35.0 458 52.9 522 58
1.5 38 10.2 17.2 317 449 50.0 480 59
09 37 86 16.0 321 422 53.9 63.7 60
1.0 33 6.9 13.3 26.0 379 455 50.8 61
1.0 29 6.1 1.8 238 358 443 51.2 62
08 1.9 54 96 19.1 338 396 478 63
06 15 4.8 8.2 17.6 314 382 410 64
06 17 48 78 16.1 287 382 438 65




3. KE®D SEWRPI AT (4-2)
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i X 7
5 M 6 T & 8 9 i 105 11 123k 135 14 158 16 17
66kg —_ -— — — 0.0 03 1.4 41 6.8 13.1 223 322 36.7 B66kg
67 —_ — — 0.2 0.1 0.3 1.1 32 6.3 127 221 26.9 331 67
68 - — — 01 03 0.2 1.2 27 6.1 89 16.3 2086 268 68
69 — — — 0.0 03 0.2 09 22 50 87 15.0 199 287 69
70 — — — — 0.0 05 08 23 45 83 136 189 250 70
71 — —_— — — 0.1 09 1.5 4.1 6.6 124 15.3 17.6 7
72 — — — — 0.0 0.0 04 1.9 33 52 94 12.6 16.7 72
73 — — - —_ —_ 0.0 03 11 27 55 1.0 12.7 14.9 73
74 —_ —_— _ — 0.0 0.1 00 17 29 49 82 1.0 14.0 74
75 — — —_ — —_ 02 02 15 3.0 35 78 98 L Ee 75
76 — — — — — 0.1 0.2 1.2 1.8 39 71 84 9.1 76
77 — — —_ —_ 0.0 0.1 0.1 08 1.9 2.7 6.2 7.2 77 77
78 _ — — — — 0.1 02 0.6 2.1 29 6.5 6.1 8.0 78
79 —_ — — — 0.0 02 0.6 16 27 5.0 4.2 52 79
80 —— = i —_ — 0.0 02 05 1.3 26 6.1 53 6.8 80
a1 — —_ e — — 0.0 0.0 06 1.2 25 42 50 48 81
82 — — — — 0.0 0.2 0.2 03 1.0 26 36 4.4 45 82
83 i — = —_ —_ 0.0 0.1 06 06 1.7 43 34 34 83
84 — =T — —_ — — 03 06 08 1.6 35 35 33 84
85 — —_ —_ — — 0.1 0.1 04 0.7 1.6 26 29 34 85
86 —_ — - — — — 0.0 0.2 0.6 1.4 25 25 31 86
a7 — — . p— — — 0.2 0.3 08 1.0 25 27 29 87
88 — — - — _— — — 0.2 06 0.7 25 jET 28 88
89 —_ —_ — — — — 0.0 02 086 0.7 27 26 29 89
90 — —_ — — — — —_— 0.1 05 1.0 15 1.3 23 90
91 — — - . == — —_ 0.0 03 1.0 16 23 23 91
92 —_ — — — — 0.0 0.2 0.2 09 08 1.9 1.7 92
93 — = = s — — = 0.1 086 07 0.8 1.5 19 93
94 =L e — — — _ 0.0 0.1 0.2 1.2 1.0 1.7 94
95 — —_ —_ — — — 0.0 0.1 03 04 13 1.4 1.7 95
96 = = e — —_ — —_ 0.1 0.1 06 1.1 13 1.0 96
97 — — —_ — 0.0 — 01 02 04 05 1.1 1.0 97
o8 — . — = - e = 0.1 0.0 03 06 07 06 98
99 — —_ —_ — — 0.0 — 0.1 02 1.1 08 05 99
100 i = — — — — 0.0 0.0 01 01 06 09 06 100
101 = = - - — - = e 0.1 0.2 0.9 04 07 101
102 — —_ —_ —_ — — — 0.1 0.2 05 08 0.6 102
103 _ _ _ — — — — — 0.0 0.1 05 1.0 08 103
104 — s— . - —_ — — 0.1 0.1 0.1 03 11 04 104
105 — y— —_ — —_— - —_ — 00 02 08 0.4 05 106
106 —_ — - — — — 0.1 0.1 0.2 0.2 0.2 06 05 106
107 = — — = s = i 0.1 0.1 02 06 05 05 107
108 = = £ = oS = Z — 0.0 00 03 06 05 108
109 T = Sz = i i = = 00 0.0 0.1 05 03 109
110 = il o S —_ =H —_ — — 03 04 04 110
m — — s = = =t = 0.0 0.1 02 0.1 03 1
112 — —_ —_ — — —_ — — — 01 02 0.0 112
113 e - s - = = - - 00 00 0.0 0.1 00 113
114 = = == = - - - s 2 i 0.0 = 0.1 114
115 = = = — - == = - s 0.0 0.1 0.0 0.1 115
116 = — - . = = = e - — 0.0 00 03 116
117 — — - o - —_— — —_ —_ — 0.0 — — 117
118 — — — — — —_ —_ — — 0.0 0.0 — 0.7 118
119 — — - — — — - 00 — 0.0 0.1 0.1 0.1 119
120 — _ _ _ —_ — — — — 00 0.0 0.1 02 120
121 _ _ _ _ _ — — 0.2 0.1 00 121
122 — —_ — — — — — — — — 0.0 — 122
123 = — — i = = - — 00 0.0 0.0 0.0 00 123
124 == = = = Py = = 0.1 — i 124
125~ = — = — —_ — - — 0.0 0.2 01 0.2 0.2 126~
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5 & 6 i 7 W 8 W 9 10 115
Bt 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0
~11kg 03 o= 02 . - — _
12 04 0.1 - — — — —
13 23 0.2 02 —_ —_ —_ —
14 12.5 1.8 02 —_ —_ —_— —_
15 435 75 1.0 0.0 —_ — —
16 94.2 234 33 04 00 — —
17 153.3 56.4 86 0.7 0.2 - —
18 1786 984 264 3.2 07 0.1 0.0
19 160.7 132.6 541 11.2 1.5 04 —
20 134.3 154.1 91.0 266 52 04 0.2
21 81.9 136.3 1168 M7 10.2 15 0.1
22 52.5 113.2 1324 68.4 204 34 03
23 31.3 82.9 1229 876 34.1 6.9 06
24 19.3 54.7 1063 106.9 52.0 138 22
25 122 427 86.9 1Mm8 709 248 4.4
26 7.1 27.3 66.8 974 781 334 8.1
27 53 19.7 452 89.3 86.2 46.6 13.6
28 2.7 134 36.1 71.4 84.2 539 17.4
29 25 9.5 269 58.6 77.2 61.8 26.1
30 1.4 8.1 189 471 776 67.7 340
3N 1.1 47 146 36.2 64.2 67.8 36.9
32 0.7 4.6 100 30.1 56.6 68.6 455
33 0.5 2.7 75 226 41.6 66.6 49.7
34 06 20 57 16.3 399 58.2 496
35 0.3 1.1 53 14.0 36.1 57.7 548
36 0.1 0.8 3.1 11.0 287 473 539
37 0.2 0.8 35 95 236 39.6 55.6
38 0.1 05 20 8.0 19.9 36.3 54.1
39 0.0 0.1 1.6 58 16.9 355 525
40 0.1 04 08 46 145 nse 516
M 0.0 0.0 0.8 38 98 26.7 440
42 0.0 02 1.1 3.1 9.3 223 415
43 —_ 0.2 04 39 7.0 19.8 403
44 — 0.1 0.2 16 4.6 16.7 37.4
45 00 0.1 03 1.8 55 15.8 30.0
46 - 0.1 0.1 1.6 4.8 1.2 283
47 — 0.0 0.0 0.9 33 1.3 24.1
48 — — 03 05 24 75 225
49 —_ — — 05 23 74 16.8
50 — — 0.1 0.4 1.9 58 17.0
51 — —_ 0.1 05 1.5 53 12.0
52 — 0.0 — 0.2 14 34 120
53 — o — 0.2 0.9 3.0 9.8
54 - — 0.0 0.7 38 7.1
55 — - — 0.1 08 28 7.8
56 — 0.0 — 0.2 05 34 5.9
57 — — 0.0 0.1 03 25 53
58 — — — - 0.2 14 45
53 —_ — — 0.0 03 0.7 3.0
60 —_ 0.0 04 1.0 35
61 — — 0.0 - 0.2 0.9 25
62 — — c- 0.0 0 1.0 23
63 - - — 0.0 0.0 0.7 1.0
64 — — — - 0.1 03 18
65 — — - 0.0 0.1 0.7 1.7
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X 3a
128 138 148 158 16 &% 176
1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 Bt
— — —_ — — — ~11kg
— — — — — 12
- — — — — 13
— — — —_ — 14
- —_— . — - —_ 15
_ — = = — — 16
—_ == — — — - 17
== — = — — — 18
— — — == == = 19
0.1 — B - — — 20
— _ — — —_ 21
0.0 = — T 22
0.1 0.0 —_ - - 23
0.2 0.0 - — N 24
05 0.1 - 0.0 = - 25
09 0.2 - s 26
20 0.2 03 — 27
25 0.2 — — — — 28
53 04 0.1 — —_ 29
7.0 09 03 0.0 0.1 30
10.1 17 0.1 — — — 31
15.8 33 0.7 03 0.1 — 32
18.2 52 09 06 0.2 0.0 33
22.0 6.2 1.2 03 03 0.1 34
31.0 1.3 23 1.1 05 0.2 35
3.4 13.2 48 1.3 0.6 0.4 36
38.0 17.3 69 23 1.2 13 37
450 229 9.0 43 26 2.1 38
45.7 27.0 13.0 6.4 38 29 39
55.0 338 182 1.3 71 6.1 40
54.1 43.2 232 13.8 10.3 85 a
59.6 51.8 30.7 245 176 138 42
55.3 54.2 385 288 21.0 195 43
54.8 55.9 453 32.0 29.1 240 44
53.3 615 56.7 443 39.7 374 45
499 59.1 59.5 50.8 457 413 46
448 62.9 62.7 55.3 51.8 50.9 47
388 57.0 57.9 58.5 57.3 57.9 48
35.0 523 62.7 575 60.6 59.0 49
329 51.0 59.9 66.6 63.9 66.9 50
278 437 58.4 57.8 60.0 67.0 51
235 422 52.1 58.6 63.8 66.6 52
21.4 34.0 48.3 55.7 58.9 62.1 53
171 29.2 449 48.0 54.7 58.4 54
15.2 26.1 389 51.4 51.1 51.3 55
1.8 20.0 30.7 393 450 473 56
10.3 175 28.0 318 386 M3 57
9.4 15.1 24.3 319 34.2 339 58
75 1.9 18.2 242 306 26.3 59
69 115 159 217 26.8 269 60
6.4 85 12.2 15.7 18.8 19.2 61
49 6.9 1.3 15.2 17.2 17.6 62
39 6.3 8.1 M2 138 13.7 63
31 5.1 79 12.2 10.1 115 64
32 46 78 9.1 12.0 99 65
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2 & (23%F)
% # M N ®
i

5 6 i 7R 8 & 9 W 10 115
66kg — - — — 0.1 04 09
67 = b— = — — 0.2 0.7
68 =2 = s o 0.0 04 06
69 == - —_ — — - 0.8
70 - — — — 0.0 10
Al — e — — — 0.1 0.4
72 — = — — — 00 03
73 — = — — 0.0 0.1 0.3
74 — — - — — 0.3 02
75 — - — — — — 03
76 —_ — — —_ — 0.1 0.1
77 -~ — — — - 0.1
78 = = — — =k = 02
79 = - = = = 0.0
80 = pa = = — — 0.0
81 — — — - — - 0.1
82 == = = — — — 0.0
—= - — — —_ 0.1 0.2
s —_— — — — — 0.2
= == — — — 0.1 —_
0.0 0.1
0.1
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28 3.0 47 74 75 93 B6kg
2.4 3.1 5.1 6.6 6.6 74 67
16 25 386 6.1 50 56 68
15 24 40 4.4 5.3 44 69
1.4 18 3.1 48 36 33 70
1.0 1.0 19 34 29 36 il
1.2 10 18 3.2 28 2.7 72
0.6 14 18 23 18 21 73
0.7 16 1.3 25 19 20 74
0.7 09 18 18 2.2 1.6 75
06 0.7 1.3 1.7 2.1 14 76
0.5 09 08 13 1.0 1.8 ¥ i
05 07 1.0 16 1.0 09 78
05 0.3 05 0.8 1.5 1.0 79
03 0.3 0.4 1.6 0.7 1.0 80
0.2 0.3 1.0 06 0.4 0.7 a
0.2 0.2 04 06 0.1 05 82
0.2 0.3 04 0.6 08 0.7 83
0.1 04 0.2 05 1.0 0.6 84
0.1 03 0.3 0.6 06 09 85
0.1 0.2 05 0.3 04 05 86
0.0 0.1 0.2 0.3 0.7 05 a7
0.0 03 04 05 0.1 06 88
0.1 0.1 0.3 0.2 0.3 0.2
—_ 02 0.1 0.2 0.1 0.2 90
0.0 0.2 0.2 0.1 0.0 0.2 N
0.1 0.1 0.2 0.2 0.1 0.1 92
0.0 0.2 0.2 03 0.0 0.1 93
— 0.0 0.1 0.1 0.2 0.1 94
0.0 0.1 0.1 0.6 0.2 0.3 g5
0.0 0.0 0.1 0.2 0.1 0.0 96
0.0 — 0.1 0.0 0.1 0.0 a7
—_ 0.0 0.0 0.1 0.1 0.2 98
0.1 —_— 0.1 0.0 _— 0.0 o9
0.0 0.0 0.0 0.1 0.1 0.0 100
— — 0.0 —_ 0.0 0.2 101
0. — 0.0 0.2 0.1 — 102
-— 0.1 0.1 0.0 0.0 0.0 103
. 0.0 —_ — 0.0 104
- . o= 0.1 0.0 0.0 105
- — 0.0 — 0.0 0.0 106
— 0.1 — — — 0.0 107
— — — — — — 108
0.0 — 0.0 — — — 109
— — — — — — 110
— — 0.0 = == = 1
= = — — = - 112
e = — 0.0 == 2 113
— —_ = — —= == 114
— = = = == “ 115
= = o= = = 116
e — = = 117
= — = — — — 118
= " — — - 119
— = = == = 120
e = — = = — 121
. _ — — — — 122
— — — — — — 123
— _— — — — — 124
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